1. Kanenpapusiii yueduslii rpadux (rp. C222)

K CeHTA6pb |29 | OkTAGPL [27 Hosnbpb fekabpb [29| SAHBapb |26 ®eBpanb (23 MapTt 30| Anpenb |27 Mawn WioHb 29| Wwnb |27 ABryct Bcero |3kaal| MMpaktuka (Hen) locy Ka Bce
Y | 1]18([15[22|IX| 6 13|20 X| 3 |10|17(24| 1| 8 [15|22|Xl| 5 [12[19] 1 [ 2| 9[16| 11| 2|9 |16]23[!I| 6 |13[20|IV| 4 [11]| 18|25] 1| 8 |15(22| VI| 6 [13|20|VII[ 3 |10[17|24] He- | ua- |meH.| y4eb | npo | npen |napct| Hn ro
P 5 2 4 1 1 5 3 5 2 ne | coe |cec-| Haa | mu3B- | aun | utor. Ky Heq
C | 7|14[21|28] X [12]19]26(XIl] 9 |16]23[30] 7 |14[21]|28] | | 11| 18 [25] Il | 8 |15(22| lll| 8 [15]22]|29(IV]|12[19/26] V [ 10 [ 17| 24 | 31| 7 [ 14]21[28|VII|12[19] 26|Vl 9 | 16[ 23| 31] nb cusi as [nomH| atT. [ 5w [ emb
| 17 Hen. =| = 23 Hen. sl=l=|=|=|=|=|=|=|=] 40| 1440 1 11 52
It 16 e, n|=| = 20 Hep. 0|0|O sl=l=]=]=|=[=[=[=|=]|36]|1206] 2 | 3 1 | 52
Il 16 e, :]=1=10]|0 17 Hep. 0|0 2 18|8[8|=[=|=[=|=|=|=|=]|33|[1188] 2| 4 | 3 10 | 52
v 17 e, (@) == olojol:[8l8[8]8][8]8][s8l8l s X X[ xIxumimmfimnim 17612 1] 4 4 16| 2 |4
Wtoro: 126 | 4536 6 11 12 4 6 34 199
TeopeTnyeckoe YyebHan MpakTuka MpeaavnnomHaa [pomexyToyHasa Kanukynei FocynapcteeHHas
obyyeHune npakTuka no npocunio npakTuka aTTectaums uTorosas
cneuManbHOCTH aTTecTauus
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1. Kanenpapuslii yueonsrii rpaguxk (rp. C221K, C224)

K CeHTA6pb |29 | OkTAGPL [27 Hosnbpb fekabpb [29| SAHBapb |26 ®eBpanb (23 MapTt 30| Anpenb |27 Mawn WioHb 29| Wwnb |27 ABryct Bcero |3kaal| MMpaktuka (Hen) locy Ka Bce
Y | 1]18([15[22|IX| 6 13|20 X| 3 |10|17(24| 1| 8 [15|22|Xl| 5 [12[19] 1 [ 2| 9[16| 11| 2|9 |16]23[!I| 6 |13[20|IV| 4 [11]| 18|25] 1| 8 |15(22| VI| 6 [13|20|VII[ 3 |10[17|24] He- | ua- |meH.| y4eb | npo | npen |napct| Hn ro
P 5 2 4 1 1 5 3 5 2 ne | coe |cec-| Haa | mu3B- | aun | utor. Ky Heq
C | 7|14[21|28] X [12]19]26(XIl] 9 |16]23[30] 7 |14[21]|28] | | 11| 18 [25] Il | 8 |15(22| lll| 8 [15]22]|29(IV]|12[19/26] V [ 10 [ 17| 24 | 31| 7 [ 14]21[28|VII|12[19] 26|Vl 9 | 16[ 23| 31] nb cusi as [nomH| atT. [ 5w [ emb
| 17 Hen. =| = 23 Hen. sl=l=|=|=|=|=|=|=|=] 40| 1440 1 11 52
It 16 e, n|=| = 20 Hep. O|0|O|=|=|=]=]|=[=]|=[=]|=[=]36[1206] 2 | 3 1 | 52
Il 16 e, n|=| = 6][6) 17 Hep. O|O[=8|8|8|=|=[=|=[=]|=[=|=]|33|1188] 2 | 4 | 3 10 | 52
v 17 e, (@) Ol0|0]=]= =18[818[8[8[818]8[ 8] X[ X X[ XTIl 17612 1] 4 4 16| 2 |4
Wtoro: 126 | 4536 6 11 12 4 6 34 199
TeopeTnyeckoe YyebHan MpakTuka MpeaavnnomHaa [pomexyToyHasa Kanukynei FocynapcteeHHas
obyyeHune npakTuka no npocunio npakTuka aTTectaums uTorosas
cneuManbHOCTH aTTecTauus
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